
[image: image186.png]Price

$
E3
ESl
£
20

2

5

2N

Domestic supply

[
|1\ Domestic demand
1ot

123456760910 1112 13 14 15 16 Millions of bamels

Qs

Qp T

-

Imports




CHAPTER 1 

2.
Answers will vary. Clearly, a focus of the election was what to do with the surplus in the federal budget and how to maintain the solvency of Social Security as the baby boomers moved toward retirement. In addition, the funding of Medicare was mentioned frequently. At the time of the election, the economy was in the 10th year of an expansion for which Al Gore wanted credit.

4.
Average cost is [image: image2.wmf]$1

.

.

17

19

95

17

¸

(

)

. Marginal cost is $0.

6.
(a)
Since gambling is not mandatory, only those who want to will gamble. The state should allow the market to provide what people want. Tax revenues are in essence paid voluntarily.


(b)
It has been argued that gambling casinos bring with them higher crime and “undesirable” elements. In addition, gambling can be addictive, and it often leads some who can least afford it into poverty and bankruptcy. Thus, opponents argue that wanting to gamble may not be strictly voluntary. Clearly allowing casino gambling may produce more than just the enjoyment of gambling.


(c)
The most frequent argument against casino gambling is that lower income households tend to gamble away more of their incomes than do higher income households. Thus, the taxes collected from gambling come predominantly from lower income households and often from gambling addicts.

CHAPTER 1 APPENDIX
2.
Answers will vary.


(a)
Negative slope. As price rises, quantity of apples purchased falls.


(b)
Positive (and declining) slope. As income rises, taxes rise, but the rise in taxes is less at higher incomes than at lower incomes.


(c)
Negative (and declining) slope. As mortgage rates fall, home sales increase, but the increase in home sales is more at lower mortgage rates than at higher mortgage rates.


(d)
Negative, then positive slope. As young children get older, they run faster, but as adults get older (beyond a certain age), they run slower.


(e)
Positive slope. Greater sunshine leads to greater corn yield.


(f)
Positive, then negative slope. Up to a point, more fertilizer increases corn yield, but beyond a certain point, adding more fertilizer actually decreases the yield.
CHAPTER 2 

2.
Disagree. To be allocatively efficient an economy must produce what people want. This means that in addition to operating on the ppf (resources are fully employed, best technology is being used) the economy must be operating at the right point on the ppf.  Note: any point on the PPF is efficient in a productive sense.
4.
(a)
Depends on her state of mind and income. If she will be paying for college, she may have to work more later. In a sense, she is trading future work for present consumption. On the other hand, if she is really stressed out, taking time off may well make her a more productive student and earn her higher grades later on.


(b)
Sacrificing present consumption for the future benefits of losing weight. For most people, dieting and working out are difficult. The future benefits of feeling well and being healthy make it worthwhile for many.


(c)
Time and money spent today on maintenance can be thought of an investment in the future—avoiding costly repair bills and/or the inconvenience of breaking down on the road. (“Pay me now or pay me later.”)

(d)
Present time saved vs. risk of an accident or a ticket, which could be costly.

	6.
	(a)

(b)

(c)
	A straight-line ppf curve intersecting the Y axis at 1,000 units of luxury goods and intersecting the X axis at 500 units of necessity goods. These are the limits of production if all resources are used to produce only one good.

Unemployment or underemployment of labor would put the society inside the ppf. Full employment would move the society to some point on the ppf.

Answers will vary, but the decision should be based on the relative value of necessities and luxuries, and the degree of concern that all fellow citizens have enough necessities.
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(d)
If left to the free market, prices would (at least ideally) be determined by market forces; incomes would be determined by a combination of ability, effort, and inheritance. It would be up to each individual to find a job and determine how to spend the income.

8.
(a)
 graph c
(b)
(a, d, e and f)
(c)
(d and e)

(d)
(e)
(e)
(b, c, d, e and f)
(f)
(b )

CHAPTER 3 


	2.
	(a)
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(b)
It depends on whether demand responds to the lower price and by how much. The diagram in (a) suggests that if price was lowered by a lot the stadium would be filled. If demand is “elastic” enough the quantity demanded will increase by more than the fall in ticket price and revenues will rise. If demand is not responsive enough, the quantity demanded may not increase enough to offset the fall in ticket prices, and revenues will fall. The easiest example of the latter would occur if demand were “perfectly inelastic,” which implies that no one else would come to the game despite the lower price.


(c)
The price system was not allowed to work to ration the Seattle tickets. Some other rationing device must have been use(d) Perhaps people stood in line or queue(d) Perhaps there was a lottery. In all likelihood there would be a secondary market for the tickets (“scalpers”). You could no doubt find them for sale on line at a high price.

4.
(a)
Disagree. They are complements.
(b)
Agree.


(c)
Disagree. A rise in income will cause the demand for inferior goods to fall, pushing prices down.


(d)
Disagree. Sure they can. Steak and lobster are both normal goods.


(e)
Disagree. Price could go down if the shift of supply is larger than the shift of demand.

(f) Agree.

	6.
	(a)
	A simple demand shift; same diagram for both cities.





	
	(b)
	Rightward shift of supply with new development; leftward shift of demand with falling incomes; same diagram for both cities. (Assumes the shifts are equal.)
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(c)
Trade-up buyers shift demand in the higher-income towns and supply in the lower-income towns.
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	8.
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(a)
	P decreases, Q decreases
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(b, d)
	  P increases, Q increases
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	(c)
	P increases, Q decreases
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	(e)
	P decreases, Q increases
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	10.
	(a)
	Price
	Quantity Demanded

(in Millions)
	Quantity Supplied

(in Millions)

	
	
	$.50
	90
	30

	
	
	$1.00
	80
	50

	
	
	$1.50
	70
	70

	
	
	$2.00
	60
	90

	
	
	$2.50
	50
	110


	
	(b)
	Quantity demanded equals quantity supplied at [image: image12.wmf]P
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50

, with quantity = 70 million dozen eggs.
	
	(c)
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	12.
	(a)
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	(b)

(c)
	[image: image15.wmf]Q

Q

P

P

P

d

s

=

®

-

=

+

®

=

300

20

20

100

$10

. Substitute [image: image16.wmf]P

=

$10

 into either the demand or supply equation to get [image: image17.wmf]Q

=

100

.

With [image: image18.wmf]P

=

$15

, producers would want to supply [image: image19.wmf]20

15

100

200

b

g

-

=

 pizzas, but consumers would want to buy [image: image20.wmf]300

20

15

0

-

=

b

g

 pizzas. There would be an excess supply of pizzas, which would bring the price down. As the price decreased, quantity supplied would decrease while quantity demanded would increase until both were equal at a price of $10 and quantity of 100.



(d)
The new market demand for pizzas would be [image: image21.wmf]Q
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(e)
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CHAPTER 4 

2. 
(a)
Disagree.  Every demand curve hits the quantity axis because of diminishing marginal utility . . . at a 

price of zero, there is a limit to how much one can or wants to consume.  The argument that at some price demand goes to zero explains why all demand curves hit the price axis.

(b) Disagree.  If demand is elastic (great than 1 in absolute value) a price decline will lead to more spending.  Spending is PxQ, and Q goes up by a bigger percentage than P goes down.

(c)
Disagree.  Every straight line demand curve is both elastic (to the left of its midpoint) and inelastic to the right of its midpoint.

4. The subsidy does increase the “cost” of planting—there is now an opportunity cost. (By planting, the farmers will have to give up the subsidy.) The subsidy will clearly lead to fewer acres of production and higher farm prices. In effect, it shifts the supply curve to the left.

6.
(a)
Wheat market
(b)
Hamburger market
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(c) Gasoline market



	8.
	(a)
	
	
	


(b) With free trade in oil, Americans would pay $30 per barrel. At this price, the U.S. demand schedule shows that Americans would buy 15 million barrels per day. The U.S. supply schedule shows that U.S. producers would supply 6 million barrels per day, with the remainder—9 million barrels—imported from foreign sources.

(c) With a tax of $4 per barrel, Americans would have to pay $34 for imported oil. Quantity demanded would decrease from 15 million to 13 million barrels. Of this, American producers would supply 10 million barrels, whereas imports would be cut back from 9 million to 3 million barrels. The U.S. government would collect a tax of [image: image27.wmf]$4
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 million

 million per day.

(d) American oil consumers are harmed by the tax; they are paying a higher price for oil. American oil producers are helped by the tax; they receive a higher price for oil, and this induces them to produce more oil. Foreign oil producers are harmed, because Americans buy less imported oil. Finally, the U.S. government (and the U.S. taxpayer generally) benefit from the tax revenue.

10.
At $8 and 6 million meals:  CS = $18 million; PS = $18 million; total = $36 million


At 3 million meals:  CS = $13.5 million; PS = $13.5 million; total = $27 million


Deadweight loss = $9 million
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12.
The key here is that total revenue is equal to [image: image29.wmf]P
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. When price rises (cab fares go up), quantity demanded goes down, depending on the elasticity of demand. Cab drivers who were expecting a 10% increase in revenues were expecting no loss of riders. They expected demand to be perfectly inelastic. But while revenues did not go up 10%, they did go up. Thus, the increase in price was more than the decrease in riders, thus the percentage decrease in Q was less than the percentage increase in price: Demand in fact was inelastic.

14.
(a)
–1.2
(b)
+10%
(c)
+15%
(d)
+12%
(e)  +.67

16.
(a)
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(b)
A price ceiling at $1.40 per gallon would create a shortage of gasoline. The result might be long lines at gas stations and perhaps a black market in gasoline.

	18.
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The figure on the left shows that legalization would reduce the cost of supplying drugs and shift the supply curve to the right. A successful advertising campaign would shift the demand curve to the left. The unambiguous result would be a lower price of drugs that would reduce the profitability of production. The relative sizes of the supply shift and the demand shift would determine whether consumption would rise or fall. If the advertising campaign failed to shift the demand curve (as in the figure on the right), the lower price would indeed lead to more consumption. The high cost of drugs to consumers who may be addicts is the real link to the crime rate.

CHAPTER 5

	2.
	





	
	# of Cookies
	Marginal Utility

	
	1
	100

	
	2
	100

	
	3
	75

	
	4
	50

	
	5
	25

	
	6
	10

	
	7
	0



The maximum that he would buy would be 6, because the seventh yields no marginal utility.

	4.
	(a)
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	(c)
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	(e)
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	(g)
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6.
This statement is backwards. An increase in the “after tax” wage will have a positive effect on the labor supply only if the substitution effect outweighs the income effect.  The substitution effect states that a higher wage makes the opportunity cost of leisure increase.  Thus, people tend to substitute working for leisure.  The substitution effect alone suggests that a higher after tax wage leads to more labor supply.  On the other hand, if the after tax wage goes up, people are better off.  Assuming leisure is a normal good, the higher wage suggests that people will consume more leisure and work less.

	
	
	
	
	


8.
(a)
Disagree. If the income effect of a wage change dominates the substitution effect we know that a wage increase will cause additional consumption of leisure and less work ... and that lower wages will cause additional work ... increased labor supply. Thus, if our household works more it must have been a wage cut.


(b)
Disagree. In product markets, a price cut makes households better off ... higher real income. Thus, for normal goods, the income effect leads to MORE consumption of the good.

	
	
	
	
	


	10.
	(a)
	Movies
	
	Books

	
	
	# Per Month
	TU
	MU
	MU/$
	
	# Per Month
	TU
	MU
	MU/$

	
	
	1
	50
	50
	6.25
	
	1
	22
	22
	1.10

	
	
	2
	80
	30
	3.75
	
	2
	42
	20
	1.00

	
	
	3
	100
	20
	2.50
	
	3
	52
	10
	.50

	
	
	4
	110
	10
	1.25
	
	4
	57
	5
	.25

	
	
	5
	116
	6
	.75
	
	5
	60
	3
	.15

	
	
	6
	121
	5
	.63
	
	6
	62
	2
	.10

	
	
	7
	123
	2
	.25
	
	7
	53
	1
	.05



(b)
Yes, these figures are consistent with the law of diminishing marginal utility, which states that as the quantity of a good consumed increases, utility also increases, but by less and less for each additional unit. In the tables, the [image: image42.wmf]TU

 figures for both books and movies are increasing, but as more movies or more books are consumed, the [image: image43.wmf]MU

 diminishes.


(c)
Five movies and two books. To maximize utility, the individual should allocate income toward those goods with the highest marginal utility per dollar. The first four movies have a higher marginal utility per dollar than the first book, so the person begins by seeing four movies for $32. The first book has a higher marginal utility than the fifth movie, so now the person should buy a book, for total expenditure of $52. Next, the second book, for total spending of $72. And finally, the fifth movie, for total spending of $80.

(d) See graph below.

(e) If the price of books falls to $10, only the [image: image44.wmf]MU

$

 column for books needs to be recalculated:

	Books

	# Per Month
	TU
	MU
	MU/$

	1
	22
	22
	2.20

	2
	42
	20
	2.00

	3
	52
	10
	1.00

	4
	57
	5
	50

	5
	60
	3
	.30

	6
	62
	2
	.20

	7
	63
	1
	.10



(f)
Now, using the same logic as in (c) above, this individual should purchase six movies and three books, for a total expenditure of [image: image45.wmf]6
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(g)
See graph below.


(h)
The decrease in the price of books increases the purchasing power of the individual’s income. this increase in purchasing power—or income effect—will be used to purchase more of one or both goods, depending on the individual’s tastes. In this case, the individual chooses to use his or her “increased income” to buy more of both goods.



(Note: Another answer to (f) is 5 movies and 4 books. This choice uses up the entire $80, and it results in the same total utility as 6 movies and 3 books.)
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12.
If leisure is a normal good, a large inheritance will be used to purchase more leisure, reducing the number of hours a person wants to work.



We might be tempted to conclude that taxing away all inheritances would increase desired working hours, but this is not necessarily the case. We must also consider the impact such large taxes would have on the desired working hours of those leaving the bequests. With a 100% tax rate, wealthy individuals would probably decide there is no point in leaving a bequest at all, therefore decreasing their need to work while they are alive. The final impact on desired working hours in the economy must take into account the effects on both bequest leavers and bequest receivers, and could go either way.

CHAPTER 5 APPENDIX
	2.
	[image: image48.wmf]I

P

x

l

=

100

 and [image: image49.wmf]I

=

100

, thus [image: image50.wmf]P

x

l

=

$1

.

00



(Point A on demand curve).
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(Point B on demand curve).
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(Point C on demand curve).
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4.
(a)
We know that [image: image58.wmf]P
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We also know that [image: image59.wmf]MU
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(b)
If [image: image62.wmf]P
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(c)
Answers will vary, but graph should show an indifference curve tangent to a budget constraint drawn for [image: image66.wmf]P
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 equal to one of the prices given in the answer to (b).

CHAPTER 6 

2.
They are not earning economic profits; they are not considering opportunity costs. The opportunity cost of capital is 10 percent of $50,000 annually, or $5,000. Because simple revenue minus cost yields an accounting profit of only $2,000, adding $5,000 in opportunity cost means the firm is suffering losses of at least $3,000. In addition, they are not considering the opportunity cost of their own labor.

4.
(a)
The marginal product decreases as a single variable factor increases, holding all other factors constant.


(b)
The table does exhibit diminishing returns because the marginal product of labor falls as labor increases:

	L
	TP
	MP

	0
	  0
	—

	1
	  5
	5

	2
	  9
	4

	3
	12
	3

	4
	14
	2

	5
	15
	1


6.
Clearly the labor-intensive way would be to carry the boxes down the hall and up the stairs one at a time. She could get a friend or two to help. If the dorm has an elevator and she can borrow a hand truck, the job would be a piece of cake. She would be using capital to raise her productivity. To go three miles across campus, a car (capital) or a truck (more capital) would be nice, although she could carry them one at a time across campus as well. In the developing world, where capital is scarce, people carry a lot of stuff. To get the boxes to a new campus, she would probably mail them or send them UPS. In this case, they would go in a big truck or in an airplane (a whole lot of capital).

8.
The addition of capital (tractors, combines, etc.) and the application of technology (nitrous fertilizers) raise the productivity of labor, just as the new grill discussed in the chapter raised the productivity of workers. Capital is also a substitute input for labor.

10.
(a)
Tall buildings—skyscrapers.


(b)
Product usually has to move along an assembly line and out into a warehouse. An assembly line usually takes a lot of space on a single floor. (Can you imagine a vertical assembly line?)


(c)
Offices can be “stacked up.” People can move by stairs or elevators easily.


(d)
Accessibility!


(e)
The area of land increases with the square of distance from the center: When a city grows from a radius of 1 mile to a radius of 5 miles, the new area is 25 times as large as the original [image: image68.wmf]Area
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12.
(a)
The first step is to calculate the cost for each level of output using each of the three technologies. With capital costing $100 per day, and labor costing $80 per day, the results are as follows:

	Daily 

Output
	Technology 

1
	Technology 

2
	Technology 

3

	100
	  860
	  800
	  820

	150
	1,100
	  960
	  900

	200
	1,280
	1,140
	1,080

	250
	1,540
	1,400
	1,340




From the table, we can see that for output of 100, Technology 2 is the cheapest. For output levels of 150, 200, and 250, Technology 3 is cheapest.

(b) In a low-wage country, where capital costs $100 per day and labor costs only $40 per day, the cost


figures are as follows:

	Daily 

Output
	Technology 

1
	Technology 

2
	Technology 

3

	100
	   580
	   600
	   660

	150
	   700
	   680
	   700

	200
	   840
	   820
	   840

	250
	1,020
	1,000
	1,020




From the table, we can see that for output of 100, Technology 1 is now cheapest. For output levels of 150, 200, or 250, Technology 2 is now cheapest.


(c)
If the firm moves from a high-wage to a low-wage country and continues to produce 200 units per day, it will change from Technology 3 (with six workers) to Technology 2 (with eight workers). Employment increases by two workers.

CHAPTER 6 APPENDIX
2.
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CHAPTER 7 

	2.
	Q
	MC

	
	0
	—

	
	1
	  5

	
	2
	  4

	
	3
	  5

	
	4
	  6

	
	5
	  8

	
	6
	10



The firm will produce four units of output—at five units [image: image73.wmf]MC
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4.
(a)
Disagree. Firms would not increase output if price were below marginal cost because that would decrease profits.


(b)
Disagree. Even if marginal cost is rising with output, average cost will decline if marginal cost is below average cost. For example, if the marginal cost of a unit of output is $10 and the next unit costs $11 and yet another costs $12, if the average were $25, it is still falling as output rises.


(c)
Disagree. Fixed cost is constant and must be paid even at zero output.

	6.
	(a)
	Marginal cost is a constant $1 from one unit of output up to 100 units because the most efficient machine will be used. From the 101st unit to the 300th unit, [image: image79.wmf]MC

 is constant at $2. From the 301st unit to the 800th unit, [image: image80.wmf]MC

 is constant at $3.
	
	




	
	(b)
	Total cost is $100 at zero units of output and rises by $1 per unit up to a total of $200 at 100 units of output. From 101 units of output up to 300 units, total cost increases by $2 per unit up to a total of $600. After that it rises at $3 per unit to a total of $2,100 at 800 units of output.

At a price of $2.50, the company should produce 300 books.

[image: image82.wmf]TR
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	8.
	(a)
	
[image: image85.wmf]200
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	(b)
	





(c)
The profit-maximizing level of output is 100 units. the firm will hire 100 units of labor.

10.
(a)
The land.


(b)
The fixed capital—the kitchen and the dining area.


(c)
The office, the dental equipment, and, in a way, the dentist’s time (the most he can work is 24 hours a day).


(d)
The land (parking for inventory of cars), showroom and service area, and installed equipment.


(e)
The branch buildings and major equipment like automated teller machines.

CHAPTER 8 

2.
The enterprise is suffering a $20,000 economic loss. [image: image86.wmf]TR
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. The firm should operate in the short run but exit in the long run.

4.
One could make a case that some economies probably exist in all five, but the case is much stronger in electric power (needs a big power plant or dam) and aircraft manufacturing (requires a big assembly line and a great deal of cooperation).



Home Building: Home building is usually done by very small independent contractors, although there are some big tract developers (like Ryan Homes) that produce tens of thousands of homes each year. They do quantity buying and use mass-produced parts.



It is hard to find economies of much significance in software development and vegetable farming. Although some firms in those industries are large, many are quite small and quite competitive.

6.
(a)
Disagree. A firm will never sell its output for less than the marginal cost of producing it, but may indeed sell at less than average total cost, as long as it can earn an operating profit.


(b)
Disagree. The short-run marginal cost curve assumes at least one input is fixed. The long-run average cost curve allows all inputs to vary. For example, the short-run [image: image92.wmf]MC

 curve for each fixed level of capital could be U-shaped, and yet the [image: image93.wmf]LRAC

 curve could be flat (constant returns to scale).

	8.
	(a)

(b)
	Disagree. Constant returns to scale means that the long-run average cost curve is flat over most of its range.

Disagree. Profit-maximizing firms earning economic profits will produce to the right of the minimum point on the average total cost curve. See the following diagram:
	
	







(c)
Disagree. The supply curve of a competitive firm is its marginal cost curve above the average variable cost curve. At any point above [image: image95.wmf]AVC

, total revenue is greater than total variable cost and firms will choose to operate.


(d)
Disagree. A firm suffering losses will continue to operate as long as total revenue covers variable cost.

10.
The enterprise is suffering a $1,000 loss. [image: image96.wmf]TR
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, accounting profit = $1,000. But the opportunity cost of capital is 10% or $2,000. When the $2,000 is added to cost the result is a $1,000 loss.

	12.
	(a, b)
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(c)
In the short run, demand shifts from D to [image: image99.wmf]¢

D

, and price rises to [image: image100.wmf]P

1

. Firms are making profits, and they raise output to 18.




In the long run, 100 new firms enter the industry. Supply shifts from S to [image: image101.wmf]¢

S

, and price falls back to $7.

CHAPTER 8 APPENDIX
2.
See the story in the text and Figure 8A.2 for an increasing-cost industry.

CHAPTER 9 

	2.
	(a)
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Process 1 costs $7 per widget. Process 2 costs $8, and Process 3 costs $10. Process 1 is cheapest.
	(b, c)

(d)
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If capital costs $3 and labor costs $4 per unit, then process 3 becomes cheapest, with a cost of $13 per widget.
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	4.
	Workers
	Bushels
	MP
	MRP

	
	0
	0
	—
	—

	
	1
	40
	40
	$80

	
	2
	70
	30
	$60

	
	3
	90
	20
	$40

	
	4
	100
	10
	$20

	
	5
	105
	5
	$10

	
	6
	102
	[image: image121.wmf]-

3


	–$6



The firm should hire workers as long as [image: image122.wmf]MRP
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<

. When [image: image123.wmf]W

=

$30

, the firm should hire three workers. If W increases to $50, the firm should cut back to only two workers, because the [image: image124.wmf]MRP

 of the third worker ($40) is now less than the cost of hiring him/her ($50).

	6.
	(a)
	Demand curve for construction workers shifts leftward; wave decreases; employment decreases.
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	(b, c)
	Demand curve for construction workers shifts rightward; wage increases; employment increases.
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8.
Investment tax credits reduce the cost of capital relative to the cost of labor. To the extent that capital is a substitute for labor, these credits can lead to layoffs and slower employment growth.

10.
You would weigh the benefits with the costs. The costs are $40 per week, but the benefits depend on the value of the roommates’ time and the displeasure that each gets from mowing. It also depends on their incomes and wealth. There could easily be disagreement. Also, depending on their individual opportunities, one or both of the other two roommates might offer to do the mowing in exchange for money.

12.
(a)
Even though the ratios [image: image127.wmf]MRP
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(b)
The firm could increase profits by either purchasing more capital or hiring more workers. Either action would add more to revenue than it would add to cost.

CHAPTER 10 

2.
(a)
Disagree strongly. Savings is defined as household income minus consumption spending. It is that portion of income set aside for future consumption. Investment is new purchases of capital, plant, equipment, and inventory. Savings in the simple model is done by households and investment is done by firms. What is often confusing is the fact that saving is the source of resources used to finance investment spending.


(b)
Disagree. It is important to remember that when a household buys a share of stock or a bond, it is not investing in the economic sense of the word. Only when new capital is produced does investment take place. If a new firm sells shares to households and uses the proceeds to buy new machinery, the purchase of the new machinery is investment.


(c)
Disagree. Higher interest rates encourage saving but discourage investment. Interest rates determine in part the cost of investment. If the capital investment is financed with borrowing, higher interest rates increase the cost directly. If capital investment is financed with internal funds by a firm, higher interest rates increase the opportunity cost of the investment.

	4.
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	Quando Company should invest in all projects that have a rate of return greater than the interest rate. Therefore, it should invest a total of $48,820,600.


6.
Total profits are taxed; what is left is split between dividends paid out to owners and retained earnings held internally for investment.

8.
Answers will vary. Interest rates differ because of the terms of the loan (how long before the loan is due) and the risk associated with the loan. Longer term interest rates may reflect expectations about future short-term rates. The federal government is considered a safe borrower and pays low interest rates.

10.
Stockholders have put up $100,000 and receive dividends of $30,000. With an interest rate of 10%, $10,000 of this is the normal rate of return. The other $20,000 is profit, earned by the stockholders.

12.
Disagree. Lower interest rates actually make households invest more (in human capital, durable goods, etc.), but might make them save less.

CHAPTER 10 APPENDIX

2.
The PDV of the inheritance is [image: image132.wmf]$10
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	4.
	
	A
	B
	C
	D
	E

	
	@8%
	$1,000
	$1,000
	$1,052
	$1,092
	$1,258

	
	@10%
	$924
	$903
	$1,000
	$1,000
	$1,208



At 8% interest, flow E is worth a current expense of $1,235, because its PDV of $1,258 would exceed the expense. At an interest rate of 10% the PDV of $1,208 is less than the current expense, so the investment should not be undertaken.

6.
(a)
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(b)
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(c)
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CHAPTER 11 

2.
Disagree. Even if shareholders are made worse off, the breakup could be a potential Pareto improvement. The term “efficient change” is often used to describe changes in which some are made better off and others worse off but in which those who gain receive benefits that are greater than the costs imposed on those who lose. The theory of the court is that consumers will gain more than shareholders lose, making the breakup efficient.

4.
(a)
First, calculate [image: image136.wmf]MP

 and [image: image137.wmf]P

MP

´

:

	Workers
	Loaves of Bread
	MP 
	[image: image138.wmf]P

MP

´



	0
	0
	—
	—

	1
	15
	15
	210

	2
	30
	15
	210

	3
	42
	12
	168

	4
	52
	10
	140

	5
	60
	8
	112

	6
	66
	6
	84

	7
	70
	4
	56




At a wage of 119 koruna per hour, 4 workers should be hired. the fifth worker would produce less value in an hour (112 koruna) than his/her wage.


(b)
When the price of bread rises to 20 koruna, the last column must be recalculated.

	Workers
	[image: image139.wmf]P

MP

´



	0
	—

	1
	300

	2
	300

	3
	240

	4
	200

	5
	160

	6
	120

	7
	80




Now, 6 workers should be hired.


(c)
If the wage rises to 125 koruna per hour, assuming bread still costs 20 koruna, only 5 workers should be hired. (If bread still costs 14 koruna, as in the first example, only 4 workers would be hired.)


(d)
Yes, the allocation of labor would be efficient because each firm would hire labor until the wage was equal to the value of the marginal product of output. If all firms paid the same wage, they would all have the same marginal product of labor, and no reallocation of labor could increase total output.

6.
(a)
Disagree. The enjoyment of housing can be limited to those who pay for it. Therefore, the private market will supply it.


(b)
Disagree. Monopolies produce too little product and charge an artificially high price.


(c)
Agree. It is difficult for consumers to evaluate the skills of a doctor or to judge the advice a doctor gives them.

8.
The cost of chicken is likely to go up. Substitutes for chicken include fish, turkey, and perhaps pork and beef. In each of these markets, the demand curve will shift rightward, and both equilibrium price and equilibrium quantity will rise. Complements might include rice and canned and packaged chicken gravy. The demand curves for these goods would shift leftward, causing both equilibrium price and quantity to decrease. In the market for farmland, we might see more acreage devoted to substitutes when the anchovies disappear, because the demand for substitutes will increase, as will their equilibrium prices.

10.
Demand for G shifts left (from [image: image140.wmf]D
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 to [image: image141.wmf]D
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), driving down the price of G from [image: image142.wmf]P
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 and creating losses in the short run for firms in G. Demand for S shifts to the right, causing the price of S to rise from [image: image144.wmf]P

0

 to [image: image145.wmf]P
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 and creating short-run profits for firms in S. In the long run, firms exit G, shifting the supply curve left (from [image: image146.wmf]S

0

 to [image: image147.wmf]S
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), driving the price of G back up to [image: image148.wmf]P

0

 and eliminating the losses. At the same time firms will enter S, shifting the supply curve to the right (from [image: image149.wmf]S

0

 to [image: image150.wmf]S
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) and driving price back down to [image: image151.wmf]P
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 eliminate profits. In the long run, employment will expand in S and shrink in G.
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12.
(a)
Imperfect information—you don’t know enough about cars to recognize whether or not you need the repair.


(b)
Public good—there is no way to limit enjoyment of the park to those who pay, so the market will not provide it.


(c)
Negative externality—there is a byproduct to this activity that affects (harms) parties outside the transaction of buying the album.


(d)
Imperfect competition—these firms are not acting like pricetakers. Their decision to raise price above marginal cost will restrict output (ticket sales) below the efficient level.

CHAPTER 12 

2.
A competitive firm can sell all the output it wants without having any impact on market price. For each additional unit sold its revenue will rise by the market price. Hence, [image: image154.wmf]MR

 is the same at all levels of output.



Each time a monopolist increases output by one unit, it must lower the price to sell it. The additional revenue the monopolist receives is actually less than the price, because consumers who were already buying the output get a price break too. [image: image155.wmf]MR

 is thus lower than price, and as output increases, both price and [image: image156.wmf]MR

 decline.

	4.
	Interval
	Marginal Revenue

	 
	0–5
	+90

	
	5–10
	+70

	
	10–15
	+50

	
	15–20
	+30

	
	20–25
	+10

	
	25–30
	–10

	
	30–35
	–30

	
	35–40
	–50


TR at 0 is zero; TR at 5 is 450; 450 ( 5 = 90.  

Produce as long as [image: image157.wmf]MR
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Thus profit = $700.
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	6.
	(a, b)
	



	(c)

(d)

(e)

(f)
	Profit-maximizing output is 900; profit-maximizing price is $5.50.

Efficient price would be $1, where the demand curve intersects the marginal cost curve. At this price, [image: image166.wmf]Q

=

1

800

,

.

Long-run output would be zero, because losses would cause the monopoly to exit the industry.

Alternatively, regulators could require the monopoly to charge a price equal to marginal cost and then subsidize the monopoly’s loss.


CHAPTER 13 

2.
(a)
Monopolistic competition: free entry, lots of firms, product differentiation, close substitutability.


(b)
As new establishments open, demand curves for existing firms shift left. Price of admission falls and profits drop to zero at the tangency of demand and [image: image167.wmf]ATC

 (see Figure 13.3).

4.  
Bands are as good of an example of monopolistic competition as there is.  Firms are small and have


some, but not much market power.   Better bands are more expensive than lesser-known bands.  The


average local band is not getting rich, but earning enough to get by.  There is likely to be close to zero


economic profit.  Clearly there is product differentiation as each group tries to attract fans and CD buyers.


They advertise and try to improve.  Booking agents often serve as barriers to the entry of new bands.

6.
(a-d) Shipbuilding and wine production: not contestable. Both require large investments of land and capital that cannot easily be moved to another location or another industry. Trucking is contestable because it’s easy to move trucks to new locations. Housecleaning services are contestable because it requires a very small initial investment.

	8.
	



	
	(a-c) With either [image: image169.wmf]MC
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000

 or [image: image170.wmf]MC
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,

000

, 800 homes will maximize profits, and a price of $120,000 will be charged.


10.
(a)
Both have dominant strategies in Game 1—charge the low price. Neither has a dominant strategy in Game 2.

(b) You might try tit for tat (match the competitor’s move) to signal the opposite that if she prices high, you might do so also.

(c) If you are risk averse, you would probably swerve to guarantee a gain of 3. This minimizes your losses from the worst thing that can happen to you (a maximum strategy).

CHAPTER 14 

2.
The automobile causes a number of externalities including pollution and congestion.  Many advocate tolls as a way to force drivers to weigh these external costs in their decision to drive.

4.
Answers should mention that although both education and health care are basically private goods (exclusion is possible), each can be thought of as a mixed good that is, a good that delivers public benefits as well. Healthy and educated members of society make society better: less poverty, less crime, lower taxes, smarter voting. Public health is also a concern. In health care, physicians have all the information, and demand is basically supply determined. Health insurance also suffers moral hazard and adverse selection problems.

6.
(a)
This might work in the small numbers case, but here large numbers of people are involved, and the “free rider problem” and the “drop in the bucket problem” are likely to get in the way of the efficient outcome.


(b)
Compensation may be fair, but there are some worries about efficiency. First is Coase’s contention that compensation might interfere with the damaged party’s incentive to avoid the damage. Compensation for past damages will also overcharge the polluter and potentially put him out of business. For efficiency, the charge must be equal to “marginal damage cost.”


(c)
This works perfectly in the case where the damages are very high. For example, suppose that the factory was dumping highly radioactive waste! But if the pollution damage was small relative to the benefits of production on the current site, it is inefficient to stop it cold. Also, there may be ways of reducing certain effluents if the tax were set correctly.


(d)
This one is efficient assuming that the marginal damages can be measured accurately. You might argue that it is not equitable, but by not compensating the damaged parties, they still have the incentive to avoid the damage if it is the least expensive way of dealing with the problem.

	8.
	Rewrite the demand curves as:
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10.
False. First, the statement ignores the difficulty of negotiations when large numbers of individuals are involved. Second, externalities involve equity as well as efficiency problems. (Examples used will vary.)

12.
 Answers will vary, but should mention public goods, externalities and imperfect market structure at a minimum.  Could bring in ‘public choice’ as an issue.

CHAPTER 15 

2.
Answers will vary.

4.
The biggest reason was that the economy was expanding at a rapid pace during this period. Millions of new jobs had to be filled; employment and labor force participation increased dramatically. In addition, welfare reform was passed and federal law made benefits temporary. In addition, real benefit levels have been falling steadily for years, making the opportunity cost of leisure significantly higher. In other words, the trade-off between work and welfare shifted toward work. The new welfare bill also provided more money for child care and medical insurance. There are many other possible explanations.

6.
Computer programming requires a great deal of skill and training. Those who get such jobs have a lot of human capital. Working in a gas station or a car wash does not require great skill. Logging and heavy construction require some skills and are dangerous occupations requiring employers to pay compensation differentials to attract workers.

8.
Disagree. The statement ignores different working conditions, differing vacations, and differing time available for other income opportunities (writing books, consulting). Also choices reveal preferences for various jobs. Academic jobs must yield more utility to some or no one would be an academic.

10.
Social security, Medicare, private pensions, and the availability of secure vehicles for saving (like FDIC-protected bank accounts) have all contributed to the reduction of poverty among the elderly.

12.
Answers will vary.

CHAPTER 16

2. 
The tax is progressive because the first $25,000 is taxed at a marginal rate of zero. As income rises, the part subject to the 0% rate shrinks as a percentage of total income and the part subject to the 25% marginal rate rises as a percentage of total income.

4. Answers will vary.

6. Disagree. Excess burdens come about because of distortions in behavior.  If a good has a low demand elasticity, the tax will have a relatively small effect on quantity demanded, and the excess burden will be relatively small.

8. If one thinks of the social security tax as payment for future entitlements, it would be correct to list it as part of employee compensation.  However, Congress could always change the law so that those “entitlements” aren’t received, and faculty may prefer to receive cash rather than future benefits; to this extent, the full value of the payroll tax should not be counted as compensation.  Also, it must be pointed out that the imposition of the tax does not raise overall employee compensation.  If it really is just another form of compensation, wages will simply fall by the amount of the tax.  To the extent that it is a tax because workers prefer to be compensated in a different way, if the supply of labor is inelastic workers will bear the burden of the tax and their compensation will be reduced.  

10. If the cost of one’s car is proportional to one’s income, then the tax would be proportional.  If high-income people spend a smaller (larger) percentage of their income on cars, then the tax would be regressive (progressive).  The tax would distort by discouraging automotive ownership (especially ownership of expensive cars) but might also correct for existing externalities (congestion, air pollution, noise).  
CHAPTER 17 (32)

2.
Answers will vary.

4.
(a)
Imported items might include coffee, tea, chocolate, oranges, tomatoes, kiwi fruit, and dates. Exported items might include corn, wheat, apples, and beef.


(b)
One would need data on input requirements for various agricultural goods and nonagricultural goods, in both the United States and other countries. From this, the opportunity cost of producing various food items in terms of nonfood items could be determined and compared with the same figures in other nations.


(c)
Yes, these numbers are consistent with a U.S. comparative advantage in food, although we are not completely “specializing” in food production. A more detailed breakdown would probably reveal that the United States tends to export capital-investment foods (wheat, corn) or foods easily produced in our climate, and that we import labor-intensive foods (tomatoes) or foods more easily produced in foreign climates (coffee, dates).


(d)
A theory of trade based on the desire for variety might explain why a nation imports and exports the “same” good (the varieties of the good imported would differ from the varieties exported).

6.
(a-c) Answers will vary.

CHAPTER 18 (34)

2. Answers will vary.

4. Public goods, sometimes called social goods, are goods or services that bestow collective benefits on members of society.  Stopping the AIDS pandemic would provide numerous public benefits, not the least of which is a lower probability of being infected.  In addition, we would save billions in foreign  aid, and increase the productivity of parts of the world that are not producing enough to grow.  It would be a safer world, as it would have fewer desperate potential terrorists.  Generally, no one can be excluded from enjoying the benefits of public goods once they are produced.  Classic examples are clean air and national defense.  Private goods like hamburgers are produced by the private sector because a firm can exclude those who don’t pay.  If exclusion is impossible, two problems arise for markets:  the “free rider problem” and the “drop in the bucket problem.”  Why should I pay for a good if I get the benefits whether I pay or not?  Since many people benefit from production, my contribution is so small as to not matter.  As a result, the private sector is powerless because it is in peoples’ interests to not pay, and it falls to government to provide public goods.  This is compounded when governments of many nations are involved.

CHAPTER 19 (35)

2.
Answers will vary. There is no clearly “right answer” to this problem, only trade-offs. Capital accumulation requires saving (reduced consumption), and when most citizens are earning subsistence wages, reducing consumption is not an option for many.

4.
The statement is partially correct, but ignores human capital requirements (the knowledge and skills needed to operate machinery and manage factories).

6.
Many recent famines have resulted from government policies. In some cases, keeping farm prices artificially low has led to a decrease in production. In other cases, a failure to invest in a distributional infrastructure has led to famine in outlying rural areas.

8.
The speaker confuses political systems with economic systems. The Soviet economic system was one of socialism (government ownership of land and capital) and central planning (government direction of resource allocation). Totalitarianism is a political—not an economic—system in which the ruler exercises authoritarian control without the consent of those governed.

10.
There are arguments on both sides. Firms that acquire market power tend to overprice and underproduce relative to the efficient price and output levels. Market power, it is argued, stifles both price and quality competition. Microsoft was charged with anticompetitive behavior by packaging its web browser with its dominant operating system, Windows. After knocking out the competition, the story goes, they can raise prices without competitive pressure. But what about foreign competition? Isn’t it a bigger, tougher game when the competition is a foreign firm receiving government support? The real problem is that the government is likely to be lousy at picking winners. What makes us think that the government can pick winners better than the market? Even recent Japanese attempts to subsidize a winner (fifth-generation computers) have failed.
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